B. Com. 2™ Semester (Honours) Examination, 2022 (CBCS)
Subject: Business Statistics
Paper: GE-2 (2.4 CH)
(Syllabus: 2020 - 21)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks. Candidates are required to give their answers

in their own words as far as practicable.

AIREVATEF 7o TG STET YVNAT [NHIB AT AT TAPTET NG OIIF G8 [70® 2T/

1. Answer any ten of the following questions: 2x10=20

(T (AT NG ATAF BB W

a. Distinguish between Complete Enumeration and Sample Survey.

Hof TSNS I VYA OHST W& ALY (=Rl

b. Mention two advantages of graphical representation of data.

(TABTAT LI ST ST 76 ST G I

c. Calculate Arithmetic Mean, Median and Mode from the following data

RS TanefFa o7, TN 8 MANSFA N7 I
7,5,6,3,3,3,3,2,7,8,4,4,3,2,1, 3.

d. What do you mean by weighted arithmetic mean?

ORYS G 0o F @I?

e. Define relative frequency and frequency density.

AREE AT & AFHLLI TG ST S |

f.  What do you mean by dispersion? Name the different measures of dispersion.

fagfs verre F @iie g [ifSn AR sefm Fm w

g. What are time series data?
FaA SR Ao Fi 2

h. What do you mean by trend in time series?

I S R 27701 Ie700 F @IT?

1.  What is scatter diagram?
e g i ?

j- What do you mean by correlation?

SRARTISN FeI00 F (QIA?

k. Distinguish between a discrete variable and a continuous variable.

IRy o7 @ WRMRE Tated Ny Ny I



1. Determine the value of AM when coefficient of variation = 5% and variance = 4

Y (O 5% A% (O 4 R, O T F© R(J ?

m. What are the desirable criteria for the selection of the base period in construction of price

index number?

AT feftTa (90 fof$ 27 Mo Fifge wnRatef Ji?

n. What do you mean by the kurtosis of a distribution?

BB I6INT kurtosis IO % [S1[&ke

0. Mention two limitations of standard deviation.
SN ATLHA 76 WfIen Srad Il
2. Answer any four of the following questions:

(T (BT I 208 S8 Wi

a. Draw histogram and frequency curve for the following data.

AR 2me AT (AT WTOETY 432 AR (@ AR [EN

5x4=20

Monthly income

RUEEAIED)

(‘000 rupees)

10-15

16-20

21-25

26-30

31-35

36-40

41-50

51-65

66-70

Number of
individuals

@& e4m)

21

32

53

106

62

43

18

10

b. Show that AM > GM >HM. If AM = 36 and GM = 24, find the value of HM.
(T8 (T AM 2 GM > HM. T AM = 36 32 GM = 24 TT, ©TI HM AT TN T I

c. Define Range as a measure of dispersion. State the advantages and disadvantages of Range.

fERo ARV RIS AT ST8a1 MIS| S SR @ Syt IS

d. From the following frequency distribution determine class limit, class boundary, mid-

value,class interval and frequency density.

NN oM AR T4 (A I, NN, NS, TN 473

AfFA LT Ty [NFT I
Weight (8\G) 45-49 50-54 55-59 | 60-64 | 65-69
(in kg)
No. of students 37 81 43 24 49

(RT3

e. What do you mean by ‘moving average’? Mention two merits and two demerits of the

moving average method of trend determination.




SR © i SIfRET Sty Al

f. If o, =10,0y, =12 and by, = 0.8, find the value of ryy. (notations have their usual
meanings)

M g, = 10, 9, = 12 G by, = 0.8 T, O 1,y JF N AT AN

3. Answer any two of the following questions: 10 x2=20

T @A 726 AT TSR e

a. 1. The AM of the following frequency distribution is 28.8. Find the missing frequency.

A6 AT THNF MG G =T 28.8. WAA® AU Nl I

Marks (Wg<) | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 50-60

No. of students 4 6 20 ? 7 3
(Rr&a4i)

ii. If AM and Mode of a frequency distribution are 60.4 and 50.2 respectively, find median.
M JFB AR [T A7 MAEH 51 q7 AL UNYFA TGN 60.4 G

50.2 X, O VLN T S

b. 1i. Show that the standard deviation is independent of origin but it depends on the scale factor.

MATS (T TNF ANYFT AR G2 [NOF I 1, G 32 (FA-I7 G217 N7 I

ii. Calculate standard deviation of the following data:

TR AFTST (A STNF T N S
Marks in Statistics (ST 10 [ 20 | 25 [ 35 40 50
IELUEREE)E
Number of students (RIS 4T): 9 12 | 27 30 14 8

c. 1. Explain the concept of time reversal test for an Index Number formula and check whether

Laspeyes price index numbers satisfy it.

FIeT RAFSHFAT HIHIF G1INFO 140 FCAT 432 Laspeyes price index G2 IO

CNCN BT T (718 |

ii. Find by the weighted average method the index number from the following data:



d.

R 2 A O (A(F SRYF TG NG Ors JoH514 Nl S

Commodity Base price (1%'% Current price @W Weight
ags IREF W) (Rs) JRIF W) (Rs) (®19)
Rice Ble1 32 50 8
Wheat YN 25 25 6
Edible oil 90 100 7
Fish W% 120 140 3
Potato NTe], 35 40 5

1. Show that -1<r <1, where r is the correlation coefficient.
M8 -1 r <1, (LA r ARHA IO QU |

ii. In an essay competition two judges rank ten competitors in a following way. From the

following data calculate Spearman’s Rank Correlation coefficient.

fNea (BREAM0 AT (T o REAF JH0 278 ARSI 10 T AfSTINH
PO T STIGTARN | G2 BT (ATF Spearman 7 NN NS TZATION
BNz g I

Competitors A B C D E F G H I J
(AfSTISN)

Judge-X 2 5 8 9 3 1 4 10 7 6
(RE1R8-X)

Judge-Y 3 4 10 8 1 2 5 9 6 7
(RErES-v)
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The figures in right the margin indicate full marks
Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten (10) questions: 2x10=20
@ @FF T (10) TT ST WIS:
What do you mean by Disposable income? (¥I6@TST ¥ Te(® & (JET?)
Prove that the sum of average propensity to consume and average propensity to save is
unity. (NI FET, TS (ST FITOT 8 TO NPT AJMOIF (J5T%eT AFP|)
How does money supply affect the position of the LM curve? (31'(9@' CIRICICI (G}
LM (FNF IATFE@E TolFe FE?)
What do you mean by M; and M,? (M; 438 M, Telte & (J1&N?)
Distinguish between Gross Domestic Product and Net Domestic Product. ((TT6 (WX
T AT (@6 (TN TIMAT JET NAF FET)
Distinguish between fiscal and monetary policy. (159 3 ARFANGT TET  AFS
FET)
What do you mean by open inflation? (C¥TeY bj@l’kﬂf@ e fF (@R1?)
Mention two important social costs of inflation. (X{\‘El‘@ﬁ“)_ﬁ' "II'E @ﬁ‘”{\‘f TEE 53
SEN FET)
What is money Illusion? (I &% FI?)
Define Marginal Propensity to Consume. (@@ (S5 JFTO1F W3 (*TT)
What is Liquidity Trap? (ST Hq $17?)
Distinguish between fixed and flexible exchange rate. (P58 3% Ty fIfawy TEs
MY AT FEAT)

m) What does the Phillips Curve show? (fsfelsIsT (47 & (ma1¥?)

n)

Define frictional unemployment. (RETOSHG (IFIFET @ 73 1)



0) What is inflationary gap? (34 Hifed TINF I?)

2. Answer any four (04) questions: 5x4=20
@ (@9 5El (04) IET T UISs

a)

b)

d)

When will the IS curve be vertical? Examine the effectiveness of fiscal policy in such
a situation. (FXF IS (TN OFF @? 999 *AFfEfoe I feq sHFFer
SIHT FEN) 3+2=5

What is involuntary unemployment? Examine the Keynesian views of the labour
market in this regard. (S =Fo (IFIHR I B AT TREES @0
Tore TS FET)

1+4=5

What is induced investment? Examine the stability of equilibrium in presence of
induced investment. (@M fRfa@sr Ft? I@fte [famem TIffew
SENENE fAfeNTer ST FET) 1+4=5

Describe the concept of a simple Keynesian multiplier. What will be the value of the
multiplier if MPC is 0.5? (397 Keynesian 39T 1T FefdT F@TI MPC 0.5 2T
JARPT A PO RF?) 4+1=5

“An increase in desire to save more may actually lead to a fall in actual savings.”

Justify the statement. What is the necessary condition for the paradox of thrift to
occur? ('@ N¥Y FAF T FH @ qFe FIT IN (Mo NEHI”
fFfeloa i@ e Wil freaem oMo REfeR o T@EAR T
F?)  3+2=5

Describe the circular flow of income. What is a Leakage from the flow? Give two
examples. (JMIF JBIFIH TR Fofq FF| TR (N AT 7 ‘{I\lﬁ Surzge
arsl) 3+2=5

3. Answer any two (02) questions: 10x2=20
& @ ﬁ?lﬁ (02) LI Tod WIa:

a)

b)

What is Stagflation? Explain diagrammatically the difference between demand

-pull and cost -push inflation. ( Stagflation $1? fbrad R IRRTE Fasfae
8 T Fasfe Juriliod MAFT I FET)

2+8=10
What is the relation between Speculative demand for money and the Bond rate of

interest? Critically examine the relation in terms of the Keynesian argument. (31'(94?



d)

IAPAEF  BIRM AT FEA YA [EA NE TR I (AT IR

AERFE THO@E TACECARTFSNE T FE1) 2+8=10

Define MEC. Briefly analyse the factors that affect the MEC. Discuss how marginal

efficiency of capital determines investment. (MEC-F ST3&81 (F(AT| MEC(F =el{w

FE 9N FEISET WEEH [RET FEN YNEE AMEF wFel FenF

fAfoTsT sl S@ o SINETHa FE71 )

1+3+6=10

Discuss the factors governing consumption expenditure. What do you mean by real

saving? ((ST5T T fATFIFTA [TAFST SACEEAT FET| IF© FPT Io(© F (QFNET?)
8+2=10




